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Start oudr  with:
yi&) = A-e"* + B,

On one hand :

L. ke '
de = A-e -k t0
= K.A-e“ . t)

On the other ‘ hand

k-[y(&) —B] = K-[Ae"t-t-B --B]
' +

= k.A.eh e (%)
Cret q |
gl = | -
A k- [y® B]
whenever y(t): A- et 4+ B



Example
A dead body is discovered at
8 A . an d ; + Iy ® renm "V e ‘f‘s. ? 20 E

On& hour | e Jhe Fem pUa
s 68 °F. The bedy was founel

| in a Peﬁrcgmr‘a‘lvr fhal Macﬂ‘}'mned
J'MPQI‘QKPQ. °F 3 O °FO.

When did Hie person clie ?
:S*-oluh'Or'L
H({). =

New fon's . d #H — i) — 0
Law of Cooliag - Z;“ = K- H(t) = 3

 We want: Yalue of € for which
Hie) = 98.6.



: .Pha: F;’d a rmula For H (‘0 |
@ Set Ht) = 98.6 '
Solue for é.-

Step @2 HH) = A-eF

t 4+ 30

Have: H(D) = 68  H(O) =72,
Use +hese +o Rgure ofif A& k.

Fz = A-e Y 4 30




For mula for H(&):
| =0, '0@8 t

H(t) = 42 ¢ + 30

63.6

X —4.86
This would be about 310 Gm,



® Simp“gy [intds u!ins den’v«ﬂ'wes‘

Th eorem j V. 1)3 T Limm £) = O
X=dea |
.at\J Lion 3&) =0
X-3a
e

Lim £ — Lim _f'(»

Xa 9(x) X=»a 9'(x)
often much
easier to calculate

than ociginal fianid
Example

Calculete: Lim 8 + +an(6)
&6->0 €in ( 9)




90 \ LH3pitald

Lim & = [ rule
g Sia(0) O | applies.

Lian 6 of |
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Exam Pii.

sikive constants,

Caleulate:  Lim cas(nt)

Let n,m be

t:f: cos(mt) —cos(nt) = Of So
© LU HEpital s

Laan 2
=0 ;
L= O £ . rule &Fpgge[.




Lim  cos(mt) = cos(né)
ey

= Lim — sia(mt) m + S'K.(n'w-n
¢ %o 2t B

= Lim — cos(m¢). mz" + ne. cﬁ(‘?é)
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